Multiplying Negative Numbers Mitenid

Find the product

(-6)x4= @ 8x(3)=
Ix(-1)= @ 4x(-4)=
(Dx(1n=__ © (8x2=_
(12)x(2)=__ (-5)x(-6)=
1ox(-8)= (-6)x12=_
(1) x(16)=_ @ (3)x(24)=__
(-6) x (-14) = 8 x (-8) =

(-5) x (-4) = 13 x (-8) =



Multiplying Negative Numbers Miona

Answers
(-6) x 4= -24 @ 8x(3)= 24
I9x (-1)= -9 @ 4x(-4)= -16
(-2) x (-1) = 2 ® (8)x2= -16
(-12) x (-2) = 24 (-5)x (-6) = 30
10x (-8) =  -80 (-6)x12= -72
(-11) x (16) = -176 2 (-3)x(-24)= 72
(-6) x (-14) = 84 8x (-8) = -64

(-5) x (-4) = 20 13x(-8) = -106




